Name: M.QL Quiz 19

For each of the following, consider the process of glucose being converted to 6 COs,.

1. How many steps include the conversion of NAD" to NADH? 5@ /0>
For each step document the reactants, products and enzyme names.
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2. How many steps include the conversion of FAD to FADH,? / (GL l)

For each step document the reactants, products and enzyme names.
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3. How many steps include the production of an ATP equivalent? g(c,_ (D

For each step document the reactants, products and enzyme names.
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